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Answer any five questions
All questions carry equal marks
. 4x= Z(mod,é) A
. 1 3x = S(mo d 9 £x I XA IN
2x st}hod 7’
3x =4(mod8)
Solve 8x =13(mod29) [15]

A -gontmuous Random varlable has the p d. ff ()= { f f{g i;‘i IDetermlne ;
3 PG otheryisey T/

Ten coins are thrown simultaneously. Find the probability of getting
i) At least 1 head ii) At least seven heads. [7+8]

In a distribution exactly normal 7% of the items are under 35 and 89% are under 63. What

are the-mean and standard.deviation of the-distribution. .-, 2 A

Five measurements of the-tar content of a-certain Kind of cigarette ylelded 14 5, 14. 2 ‘14 4

% =14.4 and the average tat claimed by the manufacture =14.0 is significanta=.05
[7+8]

Among 64 off springs of a certain cross between guinea pigs 34 were red, 10 were black

/143 and"14.6 mig per cigarette. Show that'the difference-bétween’the mean of this samplf:"-""E

and 20-were white. According to the genetic model these.numbers.should.be in the ratio-..

-._4 Are the data conskstent WAI;lL model at S% lcvel? L

A prof‘essor has three pet questlons one of which occurs on every test he gives. He never

uses the same question twice in successive examinations. If he used the question nol, he
tosses a coin and uses the question no.2. If he uses the question no. 2, he tosses two coins
and use the question no. 3, if both are heads. If he uses the question no 3, he tosses three

Ap= 2(mod6)
Solve
3x = 5(mod 8)

Solve 9x =12(mod16) [7+8]
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8.

1 b)

%(x+1), ~-1£x51

. Determine:

L)...P(Z < x <4) L. ‘; 11) The meafl.' 'm) Vananeﬁ. L {
/If thie ‘variance of a Poisson variafe is 3. Find the probabﬂ ity’ that !
i) P(x=0) ii) P(1=<x<4)

A study of passage of English text to find a vowel followed by a vowel or a consonant
followed by a consonant or a vowel reveal the following transition probability matrix

a-.-. 4
i

0 otherwise..... )




